
(Papers) SSC Junior Engineer Exam Paper ­ 2017 "held on 01 March 2017 "Morning Shift (General
Awareness)

QID : 951 ­ The innermost layer lining the lumen of the alimentary canal is the _______.

Options:
1) Muscularis
2) Mucosa
3) Serosa
4) Lumen

Correct Answer: Mucosa

QID : 952 ­ ______ are the most abundant of all the cells in blood.

Options:
1) leucocytes
2) erythrocytes
3) platelets
4) neutrophils

Correct Answer: erythrocytes

QID : 953 ­ Which of the following is the outermost whorl of a flower?

Options:
1) corolla
2) androecium
3) gynoecium
4) calyx

Correct Answer: calyx

QID : 954 ­ Mycorrhiza is a symbiotic association of a ________ with a root system.

Options:
1) fungus
2) bacteria



3) protozoa
4) algae

Correct Answer: fungus

QID : 955 ­ Consider the following pairs:

Name : Formula
1] 1­Phenoxyheptane : C6H5OCH2CH3
2] Ethoxybenzene : C6H5O(CH2)6–CH3
3] 1­Methoxypropane : CH3OCH2CH2CH3
4] Propan­1­ol : CH3–CH2–CH2–OH

Which of the above pairs are correctly matched?

Options:
1) 1 and 4 only
2) 2, 3 and 4 only
3) 3 and 4 only
4) 1,2 , 3 and 4

Correct Answer: 3 and 4 only

QID : 956 ­ What is the IUPAC name of sec­Butyl chloride?

Options:
1) Dichloromethane
2) Trichloromethane
3) 3­Bromopropene
4) 2­Chlorobutane

Correct Answer: 2­Chlorobutane

QID : 957 ­ Hexamethylene diamine and adipic acid are used to make which one of the following polymers?

Options:
1) Ethene
2) Nylon 6,6
3) Polythene
4) Melamine

Correct Answer: Nylon 6,6

QID : 958 ­ Which of the following elements has the highest atomic radius?

Options:
1) Boron
2) Aluminium
3) Gallium
4) Indium

Correct Answer: Indium

QID : 959 ­ To insert a line break this HTML tag is used.

Options:
1) <br>
2) <break>
3) <Break>
4) </>

Correct Answer: <br>

QID : 960 ­ Using the 'Home Key' in Microsoft word, processor moves the cursor to the beginning of the _______.

Options:
1) page
2) file
3) document
4) line

Correct Answer: line

QID : 961 ­ Hemis, the two­day religious festival is from which part of India?

Options:
1) Assam
2) Ladakh
3) Himachal Pradesh
4) Goa



Correct Answer: Ladakh

QID : 962 ­ The 2016 Summer Olympics was held in ______.

Options:
1) Sao Paula
2) Buenos Aires
3) Los Angeles
4) Rio de Janerio

Correct Answer: Rio de Janerio

QID : 963 ­ Which scientist through his work on pea plants, discovered the fundamental laws of inheritance?

Options:
1) Gregor Mendel
2) Jonas E. Salk
3) Dmitri Mendeleev
4) Joseph Priestley

Correct Answer: Gregor Mendel

QID : 964 ­ The slope of the _____ line measures the amount of change in good 2 required per unit of change in good 1 along the line.

Options:
1) demand
2) budget
3) utility
4) indifference

Correct Answer: budget

QID : 965 ­ Which of the following is true with respect to SMC (Short run marginal cost) and AVC (Average variable cost) ?

Options:
1) AVC curve cuts the SMC curve from above at the maximum point of SMC.
2) SMC curve cuts the AVC curve from above at the maximum point of AVC.
3) AVC curve cuts the SMC curve from below at the minimum point of SMC curve.
4) SMC curve cuts the AVC curve from below at the minimum point of AVC.

Correct Answer: SMC curve cuts the AVC curve from below at the minimum point of AVC.

QID : 966 ­ If price of an article decreases from Rs 8 to Rs 7.5, when quantity demanded increases from Q1 units to 225000 units, and if point elasticity
of demand is ­2, what is the value of Q1?

Options:
1) 1,00,000 units
2) 2,00,000 units
3) 1,50,000 units
4) 50,000 units

Correct Answer: 2,00,000 units

QID : 967 ­ ______ Ratio specifies the provision that banks must keep a fraction of their deposit with RBI.

Options:
1) Statutory Liquidity
2) Cash Reserve
3) Reserve deposit
4) currency deposit

Correct Answer: Cash Reserve

QID : 968 ­ Net National Product at market prices – (Indirect taxes – Subsidies) =

Options:
1) Gross National Product
2) Personal income
3) National Income
4) Personal Disposable Income

Correct Answer: National Income

QID : 969 ­ Motor vehicles equipped with catalytic converter should use unleaded petrol because lead in the petrol will cause following problem :

Options:
1) Erodes the exhaust metal body
2) Becomes harmful lead compounds
3) Chokes the exhaust
4) Inactivates the catalyst



Correct Answer: Inactivates the catalyst

QID : 970 ­ Which of the following is the process of the natural aging of a lake by biological enrichment of its water?

Options:
1) Inundation
2) Declamation
3) Agglomeration
4) Eutrophication

Correct Answer: Eutrophication

QID : 971 ­ Which layer of the atmosphere contains the ozone layer?

Options:
1) Mesosphere
2) Stratosphere
3) Thermosphere
4) Troposphere

Correct Answer: Stratosphere

QID : 972 ­ Which of the following is a characteristic of the tundra type of climate?

Options:
1) Zero precipitation
2) No dry season
3) Semi arid
4) No true summer

Correct Answer: No true summer

QID : 973 ­ Capital of the Union territory "Lakshadweep" is ________.

Options:
1) Pondicherry
2) Kavaratti
3) Daman
4) Port Blair

Correct Answer: Kavaratti

QID : 974 ­ With reference to the interior of the earth consider the following statements.

1] The P­waves are similar to sound waves. They can travel through only solid materials.
2] The mean thickness of continental crust is around 30 km.
3] The surface waves are the last to report on seismograph.

Which of the statements given above is / are correct?

Options:
1) 1 and 3 only
2) 2 and 3 only
3) 3 only
4) 2 only

Correct Answer: 2 and 3 only

QID : 975 ­ The tectonic plate ______ is located between the South America and Pacific plate.

Options:
1) Cocos
2) Caroline
3) Fuji
4) Nazca

Correct Answer: Nazca

QID : 976 ­ The time that light takes to travel from the Sun to the Earth is approximately ______.

Options:
1) 6.311 minutes
2) 4.311 minutes
3) 2.311 minutes
4) 8.311 minutes

Correct Answer: 8.311 minutes

QID : 977 ­ ______ is a process by which already consolidated rocks undergo recrystallisation and reorganisation of materials within original rocks.



Options:
1) Ignism
2) Petrification
3) Metamorphism
4) lithification

Correct Answer: Metamorphism

QID : 978 ­ Cotton is cultivated in Northern Indian States during the _______ cropping season.

Options:
1) Rabi
2) Kharif
3) Zaid
4) Winter

Correct Answer: Kharif

QID : 979 ­ With reference to India's freedom struggle consider the following statements.

1] The Turkish ruler Mehmed Murad­V abolished the Caliphate.
2] In February 1922, a group of peasants attacked and torched a police station in the hamlet of Chauri Chaura.
3] During the Non­Cooperation Movement Gandhiji was arrested in March 1922, and charged with sedition.

Which of the statements given above is / are correct?

Options:
1) 1 and 3 only
2) 3 only
3) 2 and 3 only
4) 2 only

Correct Answer: 2 and 3 only

QID : 980 ­ The Roman Republic that lasted from 509 BC to 27 BC, was overthrown by ___________, the adopted son and heir of Julius Caesar.

Options:
1) Xerxes
2) Caligula
3) Augustus
4) Darius

Correct Answer: Augustus

QID : 981 ­ Megasthenes was a ____________ ambassador to the court of Chandragupta Maurya.

Options:
1) Roman
2) Persian
3) Greek
4) Babylonian

Correct Answer: Greek

QID : 982 ­ Which King made Al­Biruni, the writer of Kitab­ul­Hind, a hostage?

Options:
1) Timur­i­Lang
2) Mahmud of Ghazni
3) Genghis Khan
4) Nader Shah

Correct Answer: Mahmud of Ghazni

QID : 983 ­ Rameswaram is a city in the state of ______.

Options:
1) Kerala
2) Karnataka
3) Andhra Pradesh
4) Tamil Nadu

Correct Answer: Tamil Nadu

QID : 984 ­ Along with Leo Szilard who was the other physicist to hold the first patent for a nuclear reactor?

Options:
1) Ernest Rutherford
2) Edmund Becquerel
3) Dmitri Mendeleev
4) Enrico Fermi



Correct Answer: Enrico Fermi

QID : 985 ­ Consider the following pairs:

Event : Time interval (Seconds) 
1] Period of X­rays : 10­8
2] Life time of an excited state of an atom : 10­1
3] Time between successive human heartbeats : 100
4] Rotation period of the earth : 105

Which of the above pairs are correctly matched?

Options:
1) 2 and 4 only
2) 3 and 4 only
3) 1 and 4 only
4) 2 , 3 and 4 only

Correct Answer: 3 and 4 only

QID : 986 ­ The correct relationship between Moment of Inertia, Torque and Angular acceleration is?

Options:
1) Angular acceleration = Torque x Moment of inertia
2) Angular acceleration = Torque / Moment of inertia
3) Moment of inertia = Angular acceleration x Torque
4) Moment of inertia = Angular acceleration + Torque

Correct Answer: Angular acceleration = Torque / Moment of inertia

QID : 987 ­ A magnetron valve is used to produce _________________.

Options:
1) Radio waves
2) X­Rays
3) Gamma rays
4) Microwaves

Correct Answer: Microwaves

QID : 988 ­ How far should the object be placed from a convex mirror of focal length 40 cm, when the image is to be obtained at a distance of 8 cm
from the mirror?

Options:
1) 12 cm
2) 15 cm
3) 8 cm
4) 10 cm

Correct Answer: 10 cm

QID : 989 ­ The Charter of Fundamental Rights of the Indian Constitution are borrowed from the ______________ constitution.

Options:
1) United States
2) Canadian
3) British
4) French

Correct Answer: United States

QID : 990 ­ Which of the following is a characteristic of a "First Past the Post" electoral system?

Options:
1) Candidate who wins the elections gets majority of votes
2) Voter votes for a candidate
3) Voter votes for the party
4) Every party gets seats in the legislature in proportion to the percentage of votes that it gets

Correct Answer: Voter votes for a candidate

QID : 991 ­ Nationalism also accompanied by the break­up of all the following empires, except, _____________.

Options:
1) Austro­Hungarian
2) German
3) Russian
4) British

Correct Answer: German

QID : 992 ­ In the Indian Constitution, as per Fundamental Rights, Abolition of Untouchability is a __________.



Options:
1) Right to equality
2) Right to freedom of religion
3) Right against exploitation
4) Right to Constitutional remedy

Correct Answer: Right to equality

QID : 993 ­ ____________ is the only Asian member of the G­8.

Options:
1) Japan
2) China
3) India
4) Singapore

Correct Answer: Japan

QID : 994 ­ Which of the following Indian sportsperson is an Indian field hockey player and former captain of the Indian hockey team?

Options:
1) Pankaj Advani
2) Pullela Gopichand
3) Narain Karthikeyan
4) Dhanraj Pillay

Correct Answer: Dhanraj Pillay

QID : 995 ­ Who wrote the novel "Robinson Crusoe"?

Options:
1) Salman Rushdie
2) Jonathan Swift
3) Daniel Defoe
4) William Shakespeare

Correct Answer: Daniel Defoe

QID : 996 ­ Members of _________ animal phylum are commonly known as sponges and they are generally marine and mostly asymmetrical animals.

Options:
1) Porifera
2) Mollusca
3) Platyhelminthes
4) Annelida

Correct Answer: Porifera

QID : 997 ­ The cells of which tissue are specialised to store fats?

Options:
1) Adipose
2) Squamous
3) Glandular
4) Collagen

Correct Answer: Adipose

QID : 998 ­ Which is the longest rail tunnel in India?

Options:
1) Karbude
2) Nathuwadi
3) Pir Panjal
4) Tike

Correct Answer: Pir Panjal

QID : 999 ­ Which of the following is a famous Classical Indian dancer?

Options:
1) Anjolie Ela Menon
2) Uday Shankar
3) Satish Gujral
4) Bhimsen Joshi

Correct Answer: Uday Shankar

QID : 1000 ­ All of the following are recipients of the Bharat Ratna, except ________.

Options:
1) C. Rajagopalachari
2) Bhagwan Das



3) Mahatma Gandhi
4) Jawaharlal Nehru

Correct Answer: Mahatma Gandhi




